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I1=pplI3—ppll2 andpp||2 —pp|l1 # ppl|4 — pp||3then kk == pp||2 — pp||1:pc
| kk == pellkk + 1 :print( ) : print(3 O [[(pp||1)[P[1]1={pn}thp], [kk], (pp
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1{ } thp 5

3 27 136800 J[12], 36821, [12], 368331~ [V (30) 5]
[ P = (3904) dp P, P3]

3 O%[37951 [6], 37957P , [6], 37963P } = [NO( 113 )6]
3

P ={4010} thp’
1{ } thp 5

3 2T ragim7 [6],38183 (6], 38189 1~ [No(114)¢]
{ P ={4029} thp P, PS}



3 /3%[38861 [6], 388671D , [6], 38873P } = [NO( 1 15)6]
3

P = {4094} thp’
1{ } thp 5

3 072[39107 L [6].39113_, [6], 39119 r[NO(116)6]
P ={4117} thp P P
1 2 3

3 072[39857 . [6]. 39863, [6], 39869 r[NO(117)6]
P ={4190} thp P P
1 2 3

3 27 140039 . [24], 40063, [24], 40087 1~ [V0(2)24]

[ P = (4208} thp P, pS]

P1 = {4208} thy’

33 OF 40039
[ 2 3 4 5

[24], 40063, [24], 40087 , [6], 40093, [6], 40099 ]=[N0(3)]
P P P P

3 27 40087 161, 40093, [6], 40009 1~ [No(118)4]
[ P1={4210} thp P2 pS}

33 27 0087 L [61, 40093, [6], 40099 . [12], 40111 ,[12], 40123 1~ LIVo(4)]
[ P, = {4210} thp P P, P, Ps]

3 O%rom [6], 402831D , [6], 40289P } = [NO( 1 19)6]
3

7 b
P =1{4229} th
! { } thp 5

3 072[40459 L [12], 40471, [12], 40483 ]z[N0(31)12]
P = {4241} thp P P
1 2 3

3 O aoas7 161, 40493, [6], 40499 1~ [No(120)4]
[ P1 = {4244} thp P2 pS}

3 072[4092 [6]. 40933 . [6]. 40939 } = [No(121)¢]
3

7 b
P =1{4285) th
| { } thp 5



3 2 40040  [12], 40961 . [12], 40073 1~ [N0(32) 5]
[ P = {4288} ihp P, p3]

3 072[41011 (6] 41017 . [6]. 41023 } = [No(122)¢]
3

P ={4292} thp’
1{ } thp 5

3 072{41257 6], 41263, [6], 41269 }=[N0(123)6]
P ={4320} thp P P
1 2 3
3 DT 41467 J[12], 41479, [12], 41401 1~ [N (33) 5]
[ P = {4337} thp 7, p3]

3 O7z[41507 ,[6], 41513, [6], 41519 }z[N0(124)6]
P ={4340} thp P P
1 2 3
3 2  asor 161, 41603, [6], 41600 1~ [No(125)4]
[ P1 = {4349} thp P2 p3}

3 072[41941 [6]. 41947 . (6], 41953 } = [No(126)]
3

P = {4384} thp’
1{ } thp 5

3 072[42181 [6]. 42187 . [6]. 42193 } = [No(127)¢]
3

P = {4409} thp’
1{ } thp 5

3 2 107 J[12],42200 , [12], 42221 1~ [NVe(34) 5]
[ P1={4412} thp P2 p3]

3 072[42391 [6]. 42397 . [6]. 42403, } = [No(128)¢]
3

P = {4431} thp’
1{ } thp 5

3 072[4250 [24], 42533, [24], 42557, ] = [No(3),4]

9 bl
P = {4448} th
] { } thp ) ;



3 O 1pem 161, 42683, [6], 42680 1~ [NV (129)]
[ P1 = {4460} thp P2 pS}

3 072[43177 ,[12], 43189, [12], 43201 }z [No(35),]
P ={4509} thp P P
1 2 3
3 /372[44507 ,[12], 44519, [12], 44531 }z [N0(36)12]
P ={4626} thp P P
1 2 3
3 OF 144120 J[12], 44741, [12], 447531~ [NVe(37) 5]
[ P1= {4649} thp P2 p3]

3 072[45427 , [6], 45433, [6], 45439 r [No(130)¢]
P ={4712} thp P P
1 2 3
3 27 (asagn 161, 45497 . [6], 45503 1~ [NVo(131)]
[ P1= {4716} thp P2 P3}

3 072[45751 [6]. 45757, . [6]. 45763, } = [No(132)¢]
3

P = {4739} thy
1{ } thp 5

3 072[46141 (6], 46147, [6], 46153 , } = [No(133)¢]
3

P = {4773} thy
1{ } thp 5

3 072[46877 . [12], 46889, [12], 46901 ]z[N0(38)12]
P ={4844} thp P P
1 2 3

3 2T lamo 161, 47303, [6], 47300 1~ [No(134)4]
[ P = {4877} thp P, p3}

3 072[47501 [6], 47507 , . [6], 47513 , } = [No(135)¢]
3

P = {4896} thp’
1{ } thp 5



3 072[47521 [6], 47527 , . [6], 47533 , } = [No(136)¢]
3

P = {4899} thp’
1{ } thp 5

3 072[4785 [12], 47869, [12], 47881 ] =[No(39),]

7 b
P = {4933} th
| { } thp 5 ;

3O¥WW ,WHW3qum}=WNB”d
P ={4947} thp P P
1 2 3
3 OF 145047 J[12], 48259 [12], 48271 1~ [Vo(40) ;5]
[ P = {4966} ihp 7, p3]

3O¥WW ,wmmqumw}=WMB&d
P = {4992} thp P P
1 2 3
3 072[48649 ,[12], 48661, [12], 48673 }z [No(41),,]
P ={5004} thp P P
1 2 3
3 27 149057 L [12], 49069, [12], 49081 1~ [NVo(42) ;]
[ P = {5043} thp P, p3]

3 072[4962 [6], 49633 , . [6], 49639 } = [No(139)¢]
3

7 b
P =1{5097)} th
! { } thp 5

3 2T 50147 [6], 50153, [6], o159 1~ [NVe(140)¢]
[ P ={5150} thp P, p3}

3 O%[50411 [6], 50417P , [6], 50423P } = [NO( 141 )6]
3

P ={5173) thp
1{ } thp 5

33 072[50411 [6]. 50417 [6], 50423, [18],50441 ,[18], 50459 ]Z[N0(5)]
P P P P

P ={5173) thp
1{ } thp 5 ; ; g



3 O¥[50423

, [18], 50441 , [18], 50459 =[N0(7)18]
P = (5175} thp P b ]

2 3

3 OF (6], 51413P , [6], 51419P } = [NO( 142)6]
3

51407 i
P, = {5257} thp ;

3 /372[51539 ,[12], 51551, [12], 51563 }z [No(43),,]
P = {5275} thp P P
1 2 3
3 OF 52517 J[12], 52529, 12, 525411~ [ Ve (44) 5]
[ P1={5362} thp P2 p3]

3 072[52721 6], 52727, [6], 52733 } = [No(143)¢]
P ={5382) thp P P
1 2 ;
3 OF 52951 , [6], 52957 ,[6],52963 1 [NO( 144)6]
[ P = {5402} thp P, PS}

4 072[53611 (6], 53617P , [6], 53623P , [6], 53629P ] =[No(20)]

P = {5463} thp
1{ } thp ; ; \

327 [12], 53939, [12], 53951 | ] = [No(45),]

53927P = {5495} thy’
1 P ) g

3 /372[54139 ,[12], 54151, [12], 54163 }z [No(46),, ]
P = (5512} thp P P
1 2 3

3 O 547 161, 54443, [6], S4440 1~ [No(145)4]
[ P1={5539} thp P2 pS}

o [6], 54623, [6], 54629, } = [No(146)4]
3

54617 i
P, = {5558} thp ;



3 OF 54667 , [6], 54673, [6], 54679 1 [NO( 147)6]
[ P, = {5563} hp P, PS}

o (6], 54773, , [6], 54779, } = [No(148)]
3

54767 ,
P = {5571} thp ;

3 072[54833 (18], 54851, [18], 54869 r[NO(g)lg]
P = (5577} thp P P
1 2 3

3 OF 55001 16], 55207, (6], 55213 1~ [NVe(149)¢]
[ P = {5607} hp P, p3}

3/)725

55787 ,
P, ={5659) thp

[6]. 55793 , . [6]. 55799, } = [No(150)4]
2 3

3 072[55837 , [6], 55843, [6], 55849 }: [No(151)¢]
P ={5668} thp P P
1 2 3
3 2T 55097 161, 56003, [6], 56000 1~ [No(152)¢]
[ P ={5683} thp P, p3}

4 072[56081 (6], 56087P , [6], 56093P , [6], 56099P ] =[No(21)]

P ={5689} thy
1{ } thp ; . ;

3 072[56431 [6]. 56437, . [6]. 56443 } =[No(153)]
3

P ={5720} thy’
1{ } thp ;

3 2756767 161, 56773, 161, 56779 1~ [NV (154)4]
[ P ={5755) tp P, p3}

3 275605

56951 [6], 56957, [6], 569631~ |[NVo(155)¢]
[ P ={5776} thp P P3}

2



3 27 57107 1121, 57119 12, 571311~ [Vo(47) 5]
[ P = (5791} tp P, P3]

3oF [6]. 57853 . [6]. 57859, } = [No(156)¢]
3

57847 )
P, = (5861} thp ;

3 O¥[58061

P1 = {5880} thp’

[6]. 58067 , . [6]. 58073 , } = [No(157)]
2 3

3 072[58111 [18], 58129, [18], 58147 ] - [N0(9)18]

P ={5885) thpy
1{ } thp 5 ;

3 072[58231 , 6], 58237, [6], 58243 }z[N0(158)6]
P ={5899} thp P P
1 2 3
3 072[58537 6], 58543, [6], 58549 }=[N0(159)6]
P ={5924} thp P P
1 2 3
3 2T sss7 161, 58573, [6], 58579 1~ [NV (160)4]
[ P = {5927} thp P, pS}

3 O%[s%g [6], 5869313 , [6], 58699P } = [NO( 161 )6]
3

7 b
P =1{5937} th
! { } thp 5

3 072[58967 ,[12], 58979, [12], 58991 }z [No(48),]
P ={5960} thp P P
1 2 3

3 2750107 161, 59113, 161, so119 1~ [No(162)4]
[ P = {5976} thp A p3}

3 072[5938 [6], 59393, . [6], 59399 } = [No(163)¢]
3

7 b
P =1{6003} th
| { } thp 5



3 2760077 161, 60083, [6], 60089 1~ [NVo(164)4]
[ P = {6063} ihp P, p3}

3 260127 161, 60133, 6], 60139 1~ [N (165)4]
[ P = {6070} ihp P, p3}

3O%Pw ,WMW7J®MM}=WMmmd
P = {6087} thp P P
1 2 3
3 27 160407 L1121, 60509, [12], 60521 1~ [Vo(49) 1]
[ P1= {6100} thp P2 p3]

3O%Pw ,WMW7qum}=Wmmﬂd
P, ={6108} thp P P
1 2 3

3 2T 61547 161, 61553, [6], 61559 1~ [NV (168)4]
[ P, = (6191} thp P pS}

3 072[61631 [6], 61637, . [6], 61643 } =[No(169)]
3

P ={6200} thp’
1{ } thp 5

3 2 61717 161, 61723, 161, 61720 1~ [N (170)4]
[ P = {6210 dp P, p3}

4 072[62201 (6], 62207P , [6], 62213P , [6], 62219P ] =[No(22)]

P ={6252} thpy
1{ } thp 5 ; ;

3 O?z[@sgl (61, 62597 . [6], 62603 } =[No(171)]
3

P ={6283} thp’
1{ } thp 5

3 O%Fz@ [6], 62633P , [6], 62639P } = [NO( 172)6]
3

7 b
P =1{6287)} th
| { } thp 5



3 2763067 161, 63073, 161, 63079 1~ [NVo(173)]
[ P = {6324) dp P, p3}

3 072[6348 [6]. 63493 . [6]. 63499 } = [No(174)¢]
3

7 b
P =1{6363)} th
| { } thp 5

3 072[63521 6], 63527, [6], 63533 }=[N0(175)6]
P = {6366} thp P P
1 2 3
3 OF 6351 18], 63559 (18], 63577 1~ [V (10) 5]
[ P1 = {6369} thp P2 p3]

4072[63691 . [18], 63697, [18], 63703, [18], 63709 ]z[N0(23)]
P ={6386} thp P P P
1 2 3 4
3 072[63901 , [6], 63907, [6], 63913 }=[N0(176)6]
P = {6407} thp P P
1 2 3
3 072{64007 , [6], 64013, [6], 64019 }=[N0(177)6]
P = {6414} thp P P
1 2 3
3 072[64621 , [6], 64627, [6], 64633 }=[N0(178)6]
P = {6463} thp P P
1 2 3
3 072[65407 6], 65413, [6], 65419 }=[N0(179)6]
P = {6532} thp P P
1 2 3
3 27 [sss1 161, 65557, [6], 65563 1~ [NV (180)4]
[ P = {6546} thp P, pS}

3 072[65701 [6], 65707P , [6], 65713P } = [N0(181 )6]
3

P1 = {6563} thy’



3 072[65951 6],

P1 = {6586} thy’

3 /372[6641 [18],

3 >
P, = (6623} thp

3 D F 66797 . [12]
[ P ={6657) thp

3 072[66877 6],

P1 = {6664} thy

3 O F6n157 . [12]
[ P ={6691) thp

3 O 67499 . [12]
[ P ={6725) tp

3 O 67607 . [12]
[ P ={6737) tp

3 DF e

67777 ,[6],
P = {6751} thp

3 O 68087 . [12]
[ P = {6780} tp

3 072[68477 6],

P1 = {6808} thp’

3 072[6868 [12],

7 >
P, = (6827} thp

65957
P

. 161, 65963 } - [NO( 182)6]
2 3

66431 , [18], 66449 ]z[NO(“)ls]
P P
2 3
2], 66809 , [12], 66821 ]=[N0(50)12]
P P
2 3
66883, [6], 66889 } - [NO( 183)6]
P P
2 3
2], 67169, [12], 67181 ]=[N0(51)12]
P P
2 3
2], 67511, [12], 67523 ]=[N0(52)12]
P P
2 3
2], 67619, [12], 67631 ]z[N0(53)12]
P P
2 3
67783, [6], 67789 } - [NO( 184)6]
P P
2 3
2], 68099 , [12], 68111 ]z[N0(54)12]
P P
2 3
68483, [6], 68489 } - [NO( 185)6]
P P
2 3
= [No(55),, ]

68699 , [12], 68711
P2 [g



3 O F 68737 161, 68743, [6], 68749 1~ [No(186)]
[ P = {6832} ihp P, p3}

3 072[69061 [6], 69067 , . [61, 69073 , } = [No(187)]
3

P = {6860} thp’
1{ } thp 5

3 072[69593 , [30], 69623, [30], 69653 ]z [No(l)so]
P ={6905} thp P P
| 2 3

3 27170999 J[123, 71011 12, 710231~ [Vo(56) 5]
[ P = (7033} thp P P3]

4/372[71341 L [12], 71347, [12], 71353, [12], 71359 ]z[N0(24)]
P ={7064} thp P P P
1 2 3 4
3 072[71837 ,[6], 71843, [6], 71849 }=[N0(188)6]
P ={7109} thp P P
1 2 3
3 072[71987 6], 71993, [6], 71999 }=[N0(189)6]
P = {7126} thp P P
1 2 3
3 /372[72019 ,[12], 72031 _, [12], 72043 ]z[N0(57)12]
P ={7129} thp P P
1 2 3
3 072[72469 L [12], 72481, [12], 72493 ]z[N0(58)12]
P ={7169} thp P P
1 2 3
3 2 F 161, 72733, 161, 72739 1~ [NVo(190)4]
[ P = {7193} ihp P, p3}

3 O%rgn] [6], 73127P , [6], 73133P } = [NO( 191 )6]
3

P ={7229} thy
1{ } thp 5



3 072[73471 (6], 73477 . [6]. 73483, } = [No(192)¢]
3

P ={7255} thp
1{ } thp 5

3/)723

73317 161, 73523, [6], 73520 1~ [V (193)¢]
[ P = {7258} thp P PS}

2

3 072[74311 ,[6], 74317, [6], 74323 }z[N0(194)6]
P = {7331} thp P P
1 2 3
4 OF (a5 , [6], 74471, [6], 74489 , [6], 74507 =[No(25) ]
[ P = (7345) thp P, P, P4]

3 OF

[6]. 74567 , . [6], 74573 , } = [No(195)]
2 3

74561 ,
P, ={7354) thp

3 072[74891 [6], 74897 , ., [6], 74903 , } = [No(196)]
3

P ={7386) thy
1{ } thp 5

3 27 175160 J[12, 75181, [12], 751031~ [Vo(59) 5]
[ P1= {7407} thp P2 p3]

3 072[75211 [61, 75217, [6], 75223 , } =[No(197);]
3

P ={7411) thy
1{ } thp 5

4 072[75521 [6]. 75527 . [6]. 75533 , . [6], 75539, ] =[No(26)]

P = {7438} thp
1{ } thp 5 ; ;

3 072[75571 [6], 75577 , . [6], 75583 , } =[No(198)]
3

P = {7445} thy
1{ } thp 5

3 072[75781 [6]. 75787, . [6]. 75793, } =[No(199)]
3

P = {7466} thy
1{ } thp 5



3 072[76481 (6], 76487 , . [6], 76493 } = [No(200)]
3

P ={7523) thp
1{ } thp )

47 (6], 76561, [6], 76579 . [6], 76597 1~ LIVO(27)]
P P P4]

765431) = {7531} thy
1 P 2 3

3 072[76667 , [6], 76673 _, [6], 76679 r [No(201)¢]
P = {7540} thp P P
1 2 3
3 2T s 161, 76913, 6], 769191~ [V0(202) ]
[ P = {7560} thp P, PS}

3 OF

[6]. 77023 , . [6], 77029 } = [No(203)]
2 3

77017 )
P, ={7569) thp

3 27177060 ,[12], 77081, [12], 770031~ [V0(60) 5]
[ P = (7574) tp P, P3]

4 072[77551 [12]. 77557, . [12). 77563 , . [12]. 77569, ] = [No(28)]

P ={7620} thpy
1{ } thp ) ; ,

327 [18), 77951 . [18]. 77969, ] =[No(12) 5]

77933P = {7657} thy
1 P 2 3

3 O 18167 161, 78173, 161, 78179 1~ [NV (204)4]
[ P = {7676} ihp P, p3}

3 072[78241 (18], 78259 . [18], 78277, ] = [No(13) 4]
3

P = {7684} thy
1{ } thp )

3 OF [6], 78577, [6], 78583 } = [N0(205)6]
3

78571 )
P, = {7710} thp ;



4 072[78791 [6]. 78797 , . [6]. 78803 , . [6]. 78809, ] =[No(29)]

P ={7728) thp
1{ } thp 5 ; ;

3 072[79181 [6], 79187, . [6], 79193 } =[No(206)]
3

P ={7760} thy’
1{ } thp 5

3 27179300 L[12], 79411, [12], 794231~ [NVe(61) 5]
[ P = {7182} thp P, p3]

3 072[79861 [6], 79867 , ., [6], 79873 , } =[No(207)]
3

P ={7823) thy
1{ } thp 5

3 072[79967 6], 79973, [6], 79979 r [No(208)¢]
P = {7832} thp P P
1 2 3
3 072[80239 ,[12], 80251, [12], 80263 }z [No(62),]
P ={7858} thp P P
1 2 3
3 27 150317 ,[12], 80329, [12], 80341 1~ [NVo(63) ;]
[ P1 = {7865} thp P2 p3]

4 072[80911 [12]. 80917, . [12], 80923 . [12], 80929 ] =[No(30)]

P ={7918} thp
1{ } thp 5 ; ’

327 5098 (121, 81001, [12], 810131~ [No(64) 5]
[ P1={7925} thp P2 p3]

3 072[81071 (6], 81077, . 6], 81083 } =[No(209)]
3

P ={7936} thy’
1{ } thp 5

3 /3%[81421 [18], 81439P ,[18], 81457P ] = [No( 14)18]
3

P ={7967} thp
1{ } thp 5



3 O F 151677 J[12], 81689, [12], 81701 1~ [Vo(65) 5]
[ P1={7989} thp P2 p3]

327 [12]. 81749 . [12]. 81761 ] = [No(66),]

81737P = {7995} thy
1 P 2 3

3 072[81931 , [6], 81937, [6], 81943 r [No(210)¢]
P = {8011} thp P P
1 2 3
3 O ss7 161, 82463, [6], 82460 1~ [IVO(211)4]
[ P, = {8058) tp P, p3}

3 072[82487 , [6], 82493, [6], 82499 r[NO(212)6]
P_= {8063} thp P P
1 2 3
4 2 s 161, 82787, [6], 82793, [6], 82799 1~ [No(31)]
[ P = (8090} thp P, P, P4]

3 2T 82097 161, 83003, [6], 83000 1~ [NVo(213)¢]
[ P ={8106} thp P, p3}

4 072[83431 (6], 83437 , . [6], 83443 . [6], 83449 ] =[No(32) ]

P = {8145} thp
1{ } thp 5 ; i’

3 2 ga047 ,[6], 84053, [6], 84050 1~ [N (214)¢]
[ P = {8193} ihp P, p3}

3 072[84131 [6], 84137, [6], 84143 } = [No(215)¢]
3

P ={8201} thp’
1{ } thp 5

4 /372[84431 [6], 84437, [6], 84443, [6], 84449 ] =[No(33)]

P ={8229} thy
1{ } thp 5 ; i’



3 /372[85037
3 /372[8510
3 072[85831
3 072[86131
3 072[8625
3 /372[86969
3 072[87421
3 072[87511
3 072[87541
3 072[88861

3 072[8899

P1 = {8281} thp’

9 >
P, = (8289} thp

P1 = {8448} thp’

P1 = {8351} thp’

P1 = {8373} thy’

7 >
P, = (8386) thp

P1 = {8486} thy’

P1 = {8494} thp’

P1 = {8498} thp’

P1 = {8608} thp’

7 >
P, = (8619} thp

[12

[12

[12

(6],

(6],

(6],

(6],

(6],

(6],

(6],

(6],

I,

I,

I,

85049 ,[12],85061 1 [N0(67)12]
7 Ps]

85121 ,[12], 85133 =[N0(68)12]
7 Ps]

85837 , [6], 85843 =[N0(216)6]
7 Ps}

86137 , [6], 86143 =[N0(217)6]
7 Ps}

86263, [6], 86269 =[N0(218)6]
7 Ps}

86981 , [12], 86993 ] - [N0(69)12]
P P

2 3
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P P
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3
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89003, [6], 89009 1 [N0(223 )6]
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|~ (8631} thp : : 4
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P ={8778} thp P P

1 2 3
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3
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|~ (8906} thp ;



3 2T 1057 [6],92363_, [6], 92360 1~ |[NVo(231)¢]
[ P ={8919} thp P, p3}

3 O%[93o4 [6], 93053P , [6], 93059P } = [N0(232)6]
3

7 b
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3 2719307 161, 93083, [6], 93080 1~ [NVO(233)]
[ P = {8989} ihp P, p3}

3 072[93371 [6],93377,, . [61], 93383 , } =[No(234)]
3

P ={9018} thp’
1{ } thp 5

4072[94421 (6], 94427, [6], 94433, [6], 94439 ]Z[N0(37)]
P = {9105} thp P P P
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4 27 05261 161, 95267, [6], 95273, [6], 95279 1~ [NO(38)]
[ P = {9184) tp P, P, p4]

3 072[95701 [6],95707,, . [6], 95713 , } =[No(235)]
3

P ={9222} thp’
1{ } thp 5

4 072[95911 [6].95917 . [6], 95923 . [6], 95929, ] =[No(39)]

P ={9243} thp
1{ } thp 5 ; ;

3 072[95989 ,[12], 96001, [12], 96013 ]z [No(71),,]
P ={9252} thp P P
1 2 3
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[ P = {9285} ihp P, p3]

3 072[9675 [6],96763,, . [61, 96769 } = [No(236)¢]
3

7 b
P =1{9314)} th
| { } thp 5
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[ P1 ={9370} thp P2 p3]

3 072[97961 (61, 97967 , . [61, 97973 , } =[No(237)]
3

P ={9415) thp’
1{ } thp 5

3 D7 98467 161, 98473, [6], 98479 1~ [N0(238)]
[ P = {9456} ihp P, p3}

3 O¥[98573

1241, 98597, (247, 98621 1~ [ VO (4)14]
P = (9466} thp P P ]
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